# FUNCTIONAL VERSIONS OF SOME REFINED AND REVERSED OPERATOR MEAN INEQUALITIES 

MUSTAPHA RAÏSSOULI

(Received 3 March 2017; accepted 25 April 2017; first published online 10 August 2017)


#### Abstract

We present refined and reversed inequalities for the weighted arithmetic mean-harmonic mean functional inequality. Our approach immediately yields the related operator versions in a simple and fast way. We also give some operator and functional inequalities for three or more arguments. As an application, we obtain a refined upper bound for the relative entropy involving functional arguments.


2010 Mathematics subject classification: primary 47A63; secondary 47A64, 46N10.
Keywords and phrases: convex function, operator mean, functional mean, mean inequalities.

## 1. Introduction

Let $H$ be a complex Hilbert space and $\mathcal{B}(H)$ be the $\mathbb{C}^{*}$-algebra of bounded linear operators acting on $H$. We denote by $\mathcal{B}^{+*}(H)$ the open cone of all (self-adjoint) positive invertible operators in $\mathcal{B}(H)$. Throughout this section, let $T, S \in \mathcal{B}^{+*}(H)$ and $\lambda \in(0,1)$ be a real number. The means

$$
\begin{gathered}
T \nabla_{\lambda} S=(1-\lambda) T+\lambda S, \\
T!_{\lambda} S=\left((1-\lambda) T^{-1}+\lambda S^{-1}\right)^{-1}
\end{gathered}
$$

are known as the weighted operator arithmetic and harmonic means of $T$ and $S$, respectively. For $\lambda=1 / 2$, we denote them by $T \nabla S$ and $T!S$. These operator means satisfy the inequality

$$
\begin{equation*}
T!_{\lambda} S \leq T \nabla_{\lambda} S, \tag{1.1}
\end{equation*}
$$

where the notation $T \leq S$ means that $T$ and $S$ are self-adjoint and $S-T$ is positive.
The arithmetic and harmonic operator means have been extended from positive operators to convex functionals (see [10]). Precisely, let $f, g: H \longrightarrow \mathbb{R} \cup\{\infty\}$ be two given functionals (convex or not). Then

$$
\begin{gathered}
\mathcal{A}_{\lambda}(f, g)=(1-\lambda) f+\lambda g, \\
\mathcal{H}_{\lambda}(f, g)=\left((1-\lambda) f^{*}+\lambda g^{*}\right)^{*}
\end{gathered}
$$

[^0]are called, by analogy, the weighted functional arithmetic and harmonic means of $f$ and $g$, respectively. For $\lambda=1 / 2$, they are simply denoted by $\mathcal{A}(f, g)$ and $\mathcal{H}(f, g)$. Here, the notation $f^{*}$ refers to the Fenchel conjugate of $f$ defined for $x^{*} \in H$ by
\[

$$
\begin{equation*}
f^{*}\left(x^{*}\right)=\sup _{x \in H}\left\{\operatorname{Re}\left\langle x^{*}, x\right\rangle-f(x)\right\} . \tag{1.2}
\end{equation*}
$$

\]

We also have the functional inequality

$$
\begin{equation*}
\mathcal{H}_{\lambda}(f, g) \leq \mathcal{A}_{\lambda}(f, g), \tag{1.3}
\end{equation*}
$$

where $\leq$ denotes here the point-wise order, that is, $f \leq g$ if and only if $f(x) \leq g(x)$ for all $x \in H$. The functional means are extensions of their related operator means in the sense that

$$
\mathcal{A}_{\lambda}\left(f_{T}, g_{S}\right)=f_{T \nabla_{\lambda} S}, \quad \mathcal{H}_{\lambda}\left(f_{T}, g_{S}\right)=f_{T!_{\lambda} S},
$$

where the notation $f_{T}$ refers to the convex quadratic form generated by the positive operator $T$, that is, $f_{T}(x)=\frac{1}{2}\langle T x, x\rangle$ for all $x \in H$. Thus, $f_{T}^{*}\left(x^{*}\right)=\frac{1}{2}\left\langle T^{-1} x^{*}, x^{*}\right\rangle$ or, in short, $f_{T}^{*}=f_{T^{-1}}$, whenever $T$ is a positive invertible operator. With this, (1.1) is an immediate consequence of (1.3) (see, for example, [10]).

Recently, refinements of the inequalities (1.1) as well as their reverses have drawn attention (see [7, 8] and the references therein). For example,

$$
\begin{equation*}
2 r_{\lambda}(T \nabla S-T!S) \leq T \nabla_{\lambda} S-T!_{\lambda} S \leq 2 R_{\lambda}(T \nabla S-T!S) \tag{1.4}
\end{equation*}
$$

for all $T, S \in \mathcal{B}^{+*}(H)$, where $r_{\lambda}=\min (1-\lambda, \lambda)$ and $R_{\lambda}=\max (1-\lambda, \lambda)$. See also [1, 2] for more detail and information. The usual approach to such operator inequalities is to start from their scalar versions and use the functional calculus (see, for example, $[2,12])$. In general, this procedure is lengthy and becomes more difficult for three or more operator variables, because the $\mathbb{C}^{*}$-algebra $\mathcal{B}(\mathrm{H})$ is neither commutative nor totally ordered. As far as we know, an analogue of (1.4) for $n$ operator arguments has not yet been proposed.

The fundamental goal of this paper is to give some refinements and reverses of the functional inequalities (1.3). In particular, we obtain refinements and analogues of the inequalities (1.4) when the operator variables $T$ and $S$ are replaced by (convex) functionals $f$ and $g$. Our present approach brings many advantages.

- The proofs of the functional inequalities are direct, simple and short.
- The related operator inequalities, like (1.1) and (1.4), are immediately deduced from the functional results without any more analysis.
- Our approach gives generalisations of the functional inequalities and their related operator versions for $n$ functional or operator arguments.
- The functional results can be applied to give inequalities for the relative functional entropy and the relative operator entropy.
- The results can be extended from Hilbert space to a locally convex space, as explained in the following remark.

Remark 1.1. The approach presented in this paper is based on Fenchel duality and is developed here for Hilbert spaces. As is well known, Fenchel duality is in fact defined for a locally convex space $E$ where the inner product in (1.2) is replaced by the bracket duality between $E$ and $E^{*}$, the topological dual of $E$, that is, $\left\langle x^{*}, x\right\rangle=x^{*}(x)$ for all $x \in E$ and $x^{*} \in E^{*}$. So, with some precautions, the approach developed here and the results can be extended from the case where the underlying space is a Hilbert space to the case where the underlying space is a locally convex space. In this setting, the bounded operators should be considered acting from $E$ into $E^{*}$. In order not to lengthen the present paper, we omit the details about such an extension here and hope to present it in a forthcoming paper soon.

## 2. Basic notions and tools

Throughout, we denote by $\widetilde{\mathbb{R}}^{H}$ the (extended) space of all functionals defined from $H$ into $\mathbb{R} \cup\{+\infty\}$. For $f \in \widetilde{\mathbb{R}}^{H}$, let $f^{*}$ be its conjugate defined through (1.2). As already remarked, if $f, g \in \widetilde{\mathbb{R}}^{H}$ we write $f \leq g$ if and only if $f(x) \leq g(x)$, that is, $g(x)-f(x) \geq 0$, for all $x \in H$, with the usual convention $(+\infty)-(+\infty)=+\infty$. Because of this convention, we must be careful with proofs of functional equalities and inequalities. For example, the equality $f-g=-(g-f)$ is not always true, since the functionals can take the value $+\infty$. For the same reason, the two inequalities $f \leq g$ and $f-g \leq 0$ are not always equivalent, although $f \leq g$ and $g-f \geq 0$ are equivalent.

The following lemma will be needed later.
Lemma 2.1. Let $f_{i} \in \widetilde{\mathbb{R}}^{H}$ and $p_{i} \geq 0$ for $i=1,2, \ldots, n$, with $\sum_{i=1}^{n} p_{i}=1$. Then

$$
\begin{equation*}
\left(\sum_{i=1}^{n} p_{i} f_{i}\right)^{*} \leq \sum_{i=1}^{n} p_{i} f_{i}^{*} \tag{2.1}
\end{equation*}
$$

In particular, if $T_{i} \in \mathcal{B}^{+*}(H)$ for $i=1,2, \ldots, n$, then

$$
\begin{equation*}
\left(\sum_{i=1}^{n} p_{i} T_{i}\right)^{-1} \leq \sum_{i=1}^{n} p_{i} T_{i}^{-1} \tag{2.2}
\end{equation*}
$$

Proof. The lemma is well known for $n=2$ and, for $n \geq 2$, it can be proved by mathematical induction. We can also proceed in the following simple way. By (1.2), for all $x^{*} \in H$,

$$
\begin{aligned}
\left(\sum_{i=1}^{n} p_{i} f_{i}\right)^{*}\left(x^{*}\right) & =\sup _{x \in H}\left\{\operatorname{Re}\left\langle x^{*}, x\right\rangle-\sum_{i=1}^{n} p_{i} f_{i}(x)\right\}=\sup _{x \in H}\left\{\sum_{i=1}^{n} p_{i}\left(\operatorname{Re}\left\langle x^{*}, x\right\rangle-f_{i}(x)\right)\right\} \\
& \leq \sum_{i=1}^{n} p_{i} \sup _{x \in H}\left\{\operatorname{Re}\left\langle x^{*}, x\right\rangle-f_{i}(x)\right\}=\sum_{i=1}^{n} p_{i} f_{i}^{*}\left(x^{*}\right),
\end{aligned}
$$

giving (2.1). Taking $f_{i}=f_{T_{i}}$ in (2.1) and observing that $f_{i}^{*}=f_{T_{i}^{-1}}$ yields (2.2) after a simple manipulation. The proof of the lemma is complete.

The functional inequality (2.1) is a discrete Jensen's inequality, meaning that the duality map $f \longmapsto f^{*}$ is point-wise convex, whereas (2.2) means that the inverse map $T \longmapsto T^{-1}$ is operator convex.

Remark 2.2. The operator inequality (2.2) is, of course, well known in the literature. We mention it here because it will be needed later and it also illustrates how the functional approach and functional inequalities such as (2.1) yield related operator inequalities in a simple and short manner.

For the sake of simplicity, for $f \in \widetilde{\mathbb{R}}^{H}$ and all $x, x^{*} \in H$, we set

$$
\begin{equation*}
\mathcal{F}_{f}\left(x, x^{*}\right)=f(x)+f^{*}\left(x^{*}\right)-\operatorname{Re}\left\langle x^{*}, x\right\rangle \tag{2.3}
\end{equation*}
$$

and we recall Fenchel's inequality

$$
\begin{equation*}
\mathcal{F}_{f}\left(x, x^{*}\right) \geq 0 \quad \text { for all } x^{*}, x \in H . \tag{2.4}
\end{equation*}
$$

In what follows, $\mathbf{f}=\left(f_{1}, f_{2}, \ldots, f_{n}\right) \in\left(\widetilde{\mathbb{R}}^{H}\right)^{n}$ and $\mathbf{T}=\left(T_{1}, T_{2}, \ldots, T_{n}\right) \in\left(\mathcal{B}^{+*}(H)\right)^{n}$. We also set

$$
\mathbf{P}_{n}=\left\{\mathbf{p}:=\left(p_{1}, p_{2}, \ldots, p_{n}\right): p_{i} \geq 0, i=1,2, \ldots, n ; \sum_{i=1}^{n} p_{i}=1\right\} .
$$

The weighted arithmetic and harmonic operator and functional means, previously defined for two variables, can be immediately extended to $n$ arguments as follows:

$$
\mathcal{A}_{n}^{F}(\mathbf{f} ; \mathbf{p})=\sum_{i=1}^{n} p_{i} f_{i}, \quad \mathcal{H}_{n}^{F}(\mathbf{f} ; \mathbf{p})=\left(\sum_{i=1}^{n} p_{i} f_{i}^{*}\right)^{*}
$$

and

$$
\mathcal{A}_{n}^{O}(\mathbf{T} ; \mathbf{p})=\sum_{i=1}^{n} p_{i} T_{i}, \quad \mathcal{H}_{n}^{O}(\mathbf{T} ; \mathbf{p})=\left(\sum_{i=1}^{n} p_{i} T_{i}^{-1}\right)^{-1}
$$

If $p=(1 / n, 1 / n, \ldots, 1 / n) \in \mathbf{P}_{n}$, then we simply write these means as $\mathcal{A}_{n}^{F}(\mathbf{f}), \mathcal{H}_{n}^{F}(\mathbf{f})$, $\mathcal{A}_{n}^{O}(\mathbf{T})$ and $\mathcal{H}_{n}^{O}(\mathbf{T})$, respectively. Since $f^{* *} \leq f$ for each $f \in \widetilde{\mathbb{R}}^{H}$, Lemma 2.1 gives $\mathcal{A}_{n}^{F}(\mathbf{f} ; \mathbf{p}) \geq \mathcal{H}_{n}^{F}(\mathbf{f} ; \mathbf{p})$ and $\mathcal{A}_{n}^{O}(\mathbf{T} ; \mathbf{p}) \geq \mathcal{H}_{n}^{O}(\mathbf{T} ; \mathbf{p})$.

We will also use the following lemma.
Lemma 2.3. Let $\mathbf{f}=\left(f_{1}, f_{2}, \ldots, f_{n}\right) \in\left(\widetilde{\mathbb{R}}^{H}\right)^{n}$ and $p=\left(p_{1}, p_{2}, \ldots, p_{n}\right) \in \mathbf{P}_{n}$. For all $x \in H$,

$$
\begin{equation*}
\mathcal{A}_{n}^{F}(\mathbf{f} ; \mathbf{p})(x)-\mathcal{H}_{n}^{F}(\mathbf{f} ; \mathbf{p})(x)=\inf _{x^{*} \in H} \sum_{i=1}^{n} p_{i} \mathcal{F}_{f_{i}}\left(x, x^{*}\right) \tag{2.5}
\end{equation*}
$$

Proof. Suppose that $x \in H$. By (1.2) and simple manipulations,

$$
\begin{aligned}
\mathcal{A}_{n}^{F}(\mathbf{f} ; \mathbf{p})(x)-\mathcal{H}_{n}^{F}(\mathbf{f} ; \mathbf{p})(x) & :=\sum_{i=1}^{n} p_{i} f_{i}(x)-\left(\sum_{i=1}^{n} p_{i} f_{i}^{*}\right)^{*}(x) \\
& =\sum_{i=1}^{n} p_{i} f_{i}(x)-\sup _{x^{*} \in H}\left\{\operatorname{Re}\left\langle x^{*}, x\right\rangle-\sum_{i=1}^{n} p_{i} f_{i}^{*}\left(x^{*}\right)\right\} \\
& =\inf _{x^{*} \in H}\left\{\sum_{i=1}^{n} p_{i} f_{i}(x)+\sum_{i=1}^{n} p_{i} f_{i}^{*}\left(x^{*}\right)-\operatorname{Re}\left\langle x^{*}, x\right\rangle\right\} \\
& =\inf _{x^{*} \in H}\left\{\sum_{i=1}^{n} p_{i}\left(f_{i}(x)+f_{i}^{*}\left(x^{*}\right)-\operatorname{Re}\left\langle x^{*}, x\right\rangle\right)\right\} .
\end{aligned}
$$

When combined with (2.3), this yields the desired result.

## 3. Main results

We preserve the same notations as previously. The following theorem is our first main result.

Theorem 3.1. Let $\mathbf{p}, \mathbf{q} \in \mathbf{P}_{n}$ with $\mathbf{q}=\left(q_{1}, q_{2}, \ldots, q_{n}\right)$ and $q_{i}>0$ for $i=1,2, \ldots, n$. Then

$$
\begin{equation*}
m\left(\mathcal{A}_{n}^{F}(\mathbf{f} ; \mathbf{q})-\mathcal{H}_{n}^{F}(\mathbf{f} ; \mathbf{q})\right) \leq \mathcal{A}_{n}^{F}(\mathbf{f} ; \mathbf{p})-\mathcal{H}_{n}^{F}(\mathbf{f} ; \mathbf{p}) \leq M\left(\mathcal{A}_{n}^{F}(\mathbf{f} ; \mathbf{q})-\mathcal{H}_{n}^{F}(\mathbf{f} ; \mathbf{q})\right) \tag{3.1}
\end{equation*}
$$

and

$$
\begin{equation*}
m\left(\mathcal{A}_{n}^{O}(\mathbf{T} ; \mathbf{q})-\mathcal{H}_{n}^{O}(\mathbf{T} ; \mathbf{q})\right) \leq \mathcal{A}_{n}^{O}(\mathbf{T} ; \mathbf{p})-\mathcal{H}_{n}^{O}(\mathbf{T} ; \mathbf{p}) \leq M\left(\mathcal{A}_{n}^{O}(\mathbf{T} ; \mathbf{q})-\mathcal{H}_{n}^{O}(\mathbf{T} ; \mathbf{q})\right) \tag{3.2}
\end{equation*}
$$

where we set

$$
m:=\min _{1 \leq i \leq n}\left(\frac{p_{i}}{q_{i}}\right) \quad \text { and } \quad M:=\max _{1 \leq i \leq n}\left(\frac{p_{i}}{q_{i}}\right)
$$

Proof. First, (3.2) is an immediate consequence from (3.1) when we take $f_{i}=f_{T_{i}}$ for $i=1,2, \ldots, n$. We now prove (3.1). From (2.4),

$$
\begin{aligned}
\min _{1 \leq i \leq n}\left(\frac{p_{i}}{q_{i}}\right) \sum_{i=1}^{n} q_{i} \mathcal{F}_{f_{i}}\left(x, x^{*}\right) \leq \sum_{i=1}^{n} p_{i} \mathcal{F}_{f_{i}}\left(x, x^{*}\right) & =\sum_{i=1}^{n}\left(\frac{p_{i}}{q_{i}}\right) q_{i} \mathcal{F}_{f_{i}}\left(x, x^{*}\right) \\
& \leq \max _{1 \leq i \leq n}\left(\frac{p_{i}}{q_{i}}\right) \sum_{i=1}^{n} q_{i} \mathcal{F}_{f_{i}}\left(x, x^{*}\right)
\end{aligned}
$$

Taking the infimum over $x^{*} \in H$ and using (2.5) gives the desired inequalities.
Remark 3.2. In [1], Dragomir proved inequalities similar to those of Theorem 3.1 for real-valued convex functions (see [1, Theorem 1, page 472]). The proof presented there is long and seems to be nonstandard, although it corresponds to scalar convex functions. By comparison, the proof of the previous functional inequalities is simple and short. Furthermore, it immediately yields the inequalities related to the operator version. This, with other results and applications discussed later, shows the interest of the present approach.

Choosing $q=(1 / n, 1 / n, \ldots, 1 / n) \in \mathbf{P}_{n}$ in the above theorem, we immediately obtain the following corollary.

Corollary 3.3. If $\mathbf{p}=\left(p_{1}, \ldots, p_{n}\right) \in \mathbf{P}_{n}$, then

$$
n \min _{1 \leq i \leq n}\left(p_{i}\right)\left(\mathcal{A}_{n}^{F}(\mathbf{f})-\mathcal{H}_{n}^{F}(\mathbf{f})\right) \leq \mathcal{A}_{n}^{F}(\mathbf{f} ; \mathbf{p})-\mathcal{H}_{n}^{F}(\mathbf{f} ; \mathbf{p}) \leq n \max _{1 \leq i \leq n}\left(p_{i}\right)\left(\mathcal{A}_{n}^{F}(\mathbf{f})-\mathcal{H}_{n}^{F}(\mathbf{f})\right)
$$

and

$$
n \min _{1 \leq i \leq n}\left(p_{i}\right)\left(\mathcal{A}_{n}^{O}(\mathbf{T})-\mathcal{H}_{n}^{O}(\mathbf{T})\right) \leq \mathcal{A}_{n}^{O}(\mathbf{T} ; \mathbf{p})-\mathcal{H}_{n}^{O}(\mathbf{T} ; \mathbf{p}) \leq n \max _{1 \leq i \leq n}\left(p_{i}\right)\left(\mathcal{A}_{n}^{O}(\mathbf{T})-\mathcal{H}_{n}^{O}(\mathbf{T})\right)
$$

The next corollary is just the case $n=2$ of Corollary 3.3.
Corollary 3.4. Let $f, g \in \widetilde{\mathbb{R}}^{H}$ and $T, S \in \mathcal{B}^{+*}(H)$. For $\lambda \in(0,1)$,

$$
\begin{equation*}
2 r_{\lambda}(\mathcal{A}(f, g)-\mathcal{H}(f, g)) \leq \mathcal{A}_{\lambda}(f, g)-\mathcal{H}_{\lambda}(f, g) \leq 2 R_{\lambda}(\mathcal{A}(f, g)-\mathcal{H}(f, g)) \tag{3.3}
\end{equation*}
$$

and

$$
\begin{equation*}
2 r_{\lambda}(T \nabla S-T!S) \leq T \nabla_{\lambda} S-T!_{\lambda} S \leq 2 R_{\lambda}(T \nabla S-T!S) \tag{3.4}
\end{equation*}
$$

where $r_{\lambda}:=\min (1-\lambda, \lambda)$ and $R_{\lambda}:=\max (1-\lambda, \lambda)$.
It is clear that, if $\lambda=1 / 2$, the inequalities (3.3) and (3.4) become equalities. Note that (3.4) is just (1.4). As already pointed out in the introduction, (3.4) has already been proved by the standard method (see [2, 12]). In the present approach, (3.4) is immediately deduced from (3.3), which, in turn, is proved in a simple and short way. Further, by Corollary 3.3, analogues of (3.3) and (3.4) for several functional or operator variables are also valid. More discussion of this point as well as some applications will be presented in the following section.

## 4. Application to functional entropy

In this section we apply our previous results to obtain a refined upper bound for the relative functional entropy. The operator version is immediately obtained as well. We first need to recall some basic notions.

For $T, S \in \mathcal{B}^{+*}(H)$ and $\lambda \in(0,1)$, the relative operator entropy $\mathcal{S}(T \mid S)$ is defined by

$$
\mathcal{S}(T \mid S)=T^{1 / 2} \log \left(T^{-1 / 2} S T^{-1 / 2}\right) T^{1 / 2}
$$

(see, for example, [3]). Various extensions of $\mathcal{S}(T \mid S)$ have been introduced and related operator inequalities have been investigated (see [4-6, 9]).

After [10], the relative entropy can be extended from the case where the variables are positive operators to the case where the variables are (convex) functionals, as follows:

$$
\begin{equation*}
\mathcal{E}(f \mid g)=\int_{0}^{1} \frac{\mathcal{H}_{t}(f, g)-f}{t} d t \tag{4.1}
\end{equation*}
$$

Some inequalities giving lower and upper bounds of $\mathcal{E}(f \mid g)$ can be found in [11]. For example, for all $x \in H$ such that $f(x)<+\infty$,

$$
\mathcal{E}(f \mid g)(x) \leq g(x)-f(x)
$$

Our aim here is to apply our results to obtain a refinement of this functional inequality, as stated in the following theorem.
Theorem 4.1. Let $f, g \in \widetilde{\mathbb{R}}^{H}$ and $\lambda \in(0,1)$. For all $x \in H$ such that $f(x)<+\infty$, we have the functional inequalities

$$
\mathcal{E}(f \mid g)(x) \leq g(x)-f(x)-(2 \ln 2)(\mathcal{A}(f, g)(x)-\mathcal{H}(f, g)(x)) \leq g(x)-f(x)
$$

Proof. The right-hand inequality is obvious, since $\mathcal{A}(f, g)(x)-\mathcal{H}(f, g)(x) \geq 0$ for all $x \in H$. Now let $x \in H$ be such that $f(x)<+\infty$. We can write

$$
\begin{aligned}
\mathcal{H}_{t}(f, g)(x)-f(x) & =\left(\mathcal{H}_{t}(f, g)(x)-\mathcal{A}_{t}(f, g)(x)\right)+\left(\mathcal{A}_{t}(f, g)(x)-f(x)\right) \\
& =\left(\mathcal{H}_{t}(f, g)(x)-\mathcal{A}_{t}(f, g)(x)\right)+t(g(x)-f(x)) .
\end{aligned}
$$

According to the left-hand side of (3.3),

$$
\mathcal{H}_{t}(f, g)(x)-f(x) \leq-2 r_{t}(\mathcal{A}(f, g)(x)-\mathcal{H}(f, g)(x))+t(g(x)-f(x))
$$

By dividing this latter inequality by $t>0$, integrating the two sides over $t \in(0,1)$ and using (4.1),

$$
\mathcal{E}(f \mid g)(x) \leq g(x)-f(x)-2 \int_{0}^{1} \frac{r_{t}}{t} d t(\mathcal{A}(f, g)(x)-\mathcal{H}(f, g)(x))
$$

Since $r_{t}:=\min (1-t, t)$, a simple computation gives

$$
\int_{0}^{1} \frac{r_{t}}{t} d t=\int_{0}^{1 / 2} \frac{r_{t}}{t} d t+\int_{1 / 2}^{1} \frac{r_{t}}{t} d t=\int_{0}^{1 / 2} \frac{t}{t} d t+\int_{1 / 2}^{1} \frac{1-t}{t} d t=\ln 2
$$

This yields the desired result.
In the same way as before, the operator version of the above theorem follows immediately.

Corollary 4.2. Let $T, S \in \mathcal{H}^{+*}(H)$ and $\lambda \in(0,1)$. Then

$$
\mathcal{S}(T \mid S) \leq S-T-(2 \ln 2)(T \nabla S-T!S) \leq S-T
$$

## References

[1] S. S. Dragomir, 'Bounds of the normalised Jensen's functional', Bull. Aust. Math. Soc. 74(3) (2006), 471-478.
[2] S. S. Dragomir, 'Some inequalities for weighted harmonic and arithmetic operator means', RGMIA 19 (2016), Art. 5, 10 pages.
[3] J. I. Fujii and E. Kamei, 'Relative operator entropy in noncommutative information theory', Math. Japonica 34 (1989), 341-348.
[4] J. I. Fujii and Y. Seo, 'Tsallis relative operator entropy with negative parameters', Adv. Oper. Theory 1(2) (2016), 219-235.
[5] S. Furuichi, 'Inequalities for Tsallis relative entropy and generalized skew information', Linear Multilinear Algebra 59(10) (2011), 1143-1158.
[6] T. Furuta, 'Parameteric extensions of Shannon inequality and its reverse one in Hilbert space operators', Linear Algebra Appl. 381 (2004), 219-235.
[7] O. Hirzallah, F. Kittaneh, M. Krnić, N. Lovričenvić and J. Pečarić, 'Refinements and reverses of means inequalities for Hilbert space operators', Banach J. Math. Anal. 7(2) (2013), 15-29.
[8] F. Kittaneh, M. Krnić, N. Lovrčenvić and J. Pečarić, 'Improved arithmetic-geometric and Heinz means inequalities for Hilbert space operators', Publ. Math. Debrecen 80(3-4) (2012), 465-478.
[9] M. S. Moslehian, F. Mirzapour and A. Morassaei, 'Operator entropy inequalities', Colloq. Math. 130 (2013), 159-168.
[10] M. Raïssouli, 'Relative functional entropy in convex analysis', J. Appl. Anal. 17 (2011), 231-239.
[11] M. Raïssouli, 'Functional versions for some operator entropy inequalities', Ann. Funct. Anal. 6(2) (2015), 204-211.
[12] G. Zuo, G. Shi and M. Fujii, 'Refined Young inequality with Kantorovich constant', J. Math. Inequal. 5 (2011), 551-556.

MUSTAPHA RAÏSSOULI, Department of Mathematics,<br>Science Faculty, Taibah University, Al Madinah Al Munawwarah, P.O. Box 30097, Zip Code 41477, Saudi Arabia and<br>Department of Mathematics, Faculty of Science, Moulay Ismail University, Meknes, Morocco<br>e-mail: raissouli.mustapha@gmail.com


[^0]:    (C) 2017 Australian Mathematical Publishing Association Inc. 0004-9727/2017 \$16.00

